Llina 3a M2 100%

~$
O6nactb: Xutommpcbka
MicTo: XXutomunp
PaiioH: Xntomup
MikpopaiioH: [lpomaBTOMaTHKa
Apapeca: LLleByeHka
Cekuia:
KaHanisauinHa
Tpy6a:
Ne

Appeca: —
3abynoBHUK: —
Llina Ha 100%
~$
KeapTupa Tun cTiH:
Tun o6'ekTy: BTOpuHHE Tun onaneHHs:
XNUTNO
Bup 3 BikHa:
CraH: Xunun ctaH
Knac xutna:
Mosepx: 239
KimHaTu: 2
Twvn KiMHaTH: Okpemi
finsauka: 50
KomeHTap

KeapTupa BTopuHHe >xutno ID 7320

XXuTnoeuit KoMnnekKc: —

[NaHenb

MUCbMOBWIN EKCKJTIO3MB 10119 AKTUB MJTIOC 47000 3 ToproM +2% 3 Bepxy Il uiHa 47000 6ya.107, 8i n-a,



